
b(E)× 106 [cm2g−1] for
Epotek-301-1

〈Z/A〉 = 0.53409

E [GeV] bbrems bpair bnucl btot

2. 0.2497 0.1082 0.4733 0.8312
5. 0.3386 0.2682 0.5005 1.1072
10. 0.4124 0.4073 0.4852 1.3049
20. 0.4905 0.5592 0.4627 1.5124
50. 0.5971 0.7727 0.4381 1.8078

100. 0.6773 0.9242 0.4261 2.0275
200. 0.7528 1.0641 0.4199 2.2369
500. 0.8430 1.2092 0.4189 2.4710
1000. 0.9009 1.2984 0.4257 2.6250
2000. 0.9492 1.3614 0.4372 2.7479
5000. 0.9976 1.4174 0.4586 2.8735

10000. 1.0234 1.4438 0.4803 2.9475
20000. 1.0416 1.4604 0.5058 3.0078
50000. 1.0574 1.4735 0.5457 3.0766
100000. 1.0645 1.4789 0.5801 3.1234


